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1. Answer in not more than two sentences :-- e '
(a) Whatis criminal conspiracy? . Q,fi’l
(b)  Write anytwo General exceptions of crime. e ,\\4 :
(c) WhatisPublic Nuisance? 3
(d) DefineDocument. y , >\7
(e) Whatare the various pumshmcnts avallablc under the TPC
(£ - What Crimninal Trespass? . @
(g) Define Mischief? s g N
* (h) Givetwo instances of Grievons Btk L
O . (i) Whatis wrongful confinement. \xJ ;
' 6)) State any two amendments to the law rclahn%ZQrapc in the year 20 13.

2. Write Short notes on (Any four) :- N ' ' 20
(a) CustodialRape N
(b) Abduction 4 A
() Bigamy e
(d) - Hurt 3
(e) Dacoity 2 \>‘
(f) Offences relating to clcc&gp

3 Write Short notes on (Any four)’ : : - 12
(a) Mangeslia mamemnan who is a citizen of India has sexual mtercoursc with
Julie a married European woman in France. -
(i) If Adultery’is not an offence in France can Mangesh be found vmlty in-
India? O ' .
O ) (ii) - Canaftlie be held guilty oLAdultery inIndia?
’ (b) Tipu \{Zs ear old boy is unhappy in his parents' home at Pune.Heis promxsed
by Efan that if he comes with him to Mumbai he will be well taken care of. -
a0 willingly goes with Irfanto Mumba1 _There [rfan maimshim and putshim = .
Jubegging. :
A“({) What offence is Irfan guilty of? .
\50 (ii) IfTipuwas an orphan would the answer have been any dxfferent?
G‘O (c) -Aentersthe house ofB through an open window at 8 pm. Heleaves athreatening

6 . letter on the dining table in the name of B stating that if B does not glve him5 -
@\’ . lakh rupees within a week his house will be bumnt down.. .
¢ KKF (i) What are the offences A is guilty of? -
gp ; (i) 1fA did the same act to leave behind a birthday card for B would he be
\g@ . . puilty ofany offence? - A
Q
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4 Answer in Detail (Any four): - : /\4_‘3 .
(a) What are: the five stages of crime? Give illustrations and explain the @0
_ provisions in the 1PC for that. X
(b) Whattheory of punishment does Capital punishment adhere to? Explain{('i‘.h
- fegsons your view on the abolition of death penalty. LQ
(c) Explain the offences relating to religion in the IPC. Do you thi \ these

offences are sufficient in the present day context. Suggest changegit any.
(d) Whatarethe ingredients of the offence of kidnapping from 1awﬁ'é1i ardianship.
How is it different from Abduction? 2
(e) Wrkatis dishonestly and fraudulently? Write short notes ou}xhy five offences
relating to property. : ' ' QQQ’ : ,
() Whatare the Offences mentioned in the chapter on I.iap Offences Relating to
- Marriage in the IPC. Explain X A !
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